Ratio to ALEPH

o(1 jet)/a(inclusive)

=
o

=

-
<
[N

1072

1073

107

107

107°

0.5

189 GeV ee y*/Z (Hadronic)
_| Tt T T T T T | I I I T | Tt T T T T T |_4(Q
— —=3
— = >
— {0}
[ 1=
(@]
= =o©
= =P
[ Jo
i
= =R
= n 42
| _x
= T
— ™M
— - <
= - 42
— =HO
— M
[ <
[ = ALEPH s
= --f3-- Herwig 7.1.1 de 3%
— —a— Pythia 8.301 default Js
=— ¢ Sherpa ./,8/default =c
~ .- Vincia 1M.00_8.176 default 58
L 1 —Hwu
| __|0o
= 3o
— 09
u . | | | | | | | | L, , L1 I =
:l T T T T | T T T | T | T T |:
— =2
1
| —0.5
| " 1 1 1 1 " | " 1 1 1 " | " 1 " | " 1 1 " |
-0.5 -0.4 -0.3 —0.2 -0.1



	Contents
	Page 1


